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B] i3 3m] ;28 AT 301 345 393 738
EARI1TH 1,045 1,149 1,262 2,411
EARI2TH 1,194 1,012 1,359 2,371
A R T 2,345 2,321 2,603 4,924
BERT1TH 603 581 629 1,210
B EET2T H 403 401 444 845
B ERI3TH 309 360 316 676
B ERTATH 534 480 511 991
B ERSTH 829 885 892 1,777
I ER6TH 375 393 418 811
HiF = HT 543 581 626 1,207
45 KHT 515 581 613 1,194
HHT 1,002 1,083 1,211 2,294
BEHT 52 52 57 109
A K BT 620 698 725 1,423
7 HT 436 441 458 899
RICET 454 476 525 1,001
FORHET 200 184 222 406
RFHT 204 200 236 436
KHET 357 327 369 696
KET1TH 235 235 282 517
XKET3TH 296 342 330 672
KET4TH 871 800 081 1,781
fit] LLI BT 2,438 2,745 2,888 5,633
JE LT 994 1,096 1,197 2,293
EHERT2TH 316 456 449 905
EHERISTH 427 527 526 1,053
EHERT4TH 393 464 493 957
EHERSTH 349 395 458 853
EAEHET6TH 215 286 277 563
EAERET7TH 169 255 262 517
=Y:i 338 336 375 711
8 [F T 1,637 1,462 1,693 3,155
=i ET 512 542 628 1,170
2l 3t BT 486 581 559 1,140
N =15 101 113 121 234
L EFHET I 638 635 700 1,335
L EFHTER 847 760 847 1,607
L HAET 1,998 2,157 2,255 4412
LFH¥ABT1TH 73 122 113 235
LE¥ET2T B 155 154 177 331




HEZ HH 5 £ i
LFEI3TH 152 151 171 322
EHART4T B 166 180 207 387
LHABTS T B 218 267 301 568
I == HT 202 206 229 435
JN=FRT1TH 562 543 536 1,079
Mn=rET2TH 558 523 571 1,094
JO=fET3TH 427 432 411 843
M=rET4T H 1,075 1,070 1,100 2,170
I S5k T 588 595 664 1,259
I=F5di) 225 212 249 461
Jt B BT 30 36 37 73
B[] 401 357 342 699
fHZaE T 818 923 972 1,895
FHRHET 83 78 95 173
1 2 FF T 354 393 426 819
BEFE1TH 95 119 131 250
BEFE2TH 274 303 320 623
T EHT 131 137 141 278
/N BB T 3,091 3,063 3,281 6,344
1R HT 257 276 296 572
YEZF HT 768 755 789 1,544
EXBI1TH 259 251 258 509
=/ LLIHT 217 160 124 284
Hh ek HT 27 27 4 31
T A EHET 11 16 12 28
THHEE1TH 726 646 690 1,336
THHEE2TH 527 550 540 1,090
THHEESTH 859 887 1,023 1,910
TEHE1TH 180 180 171 351
TEHRI2TH 815 753 859 1,612
TEHRISTH 164 178 186 364
TEHRI4ATH 99 111 119 230
TEHRISTH 212 230 237 467
T HAET 571 602 628 1,230
THET1TH 352 345 354 699
THET2 T H 466 426 491 917
TH#RBI3TH 201 194 225 419
THABTATH 153 146 178 324
TH#RBI5TH 163 172 202 374
HTAEHET 17 16 8 24
T 185 199 180 379
#8)11 BT 46 46 54 100
KTIHT 297 308 339 647
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7B KHT 1,650 1,640 1,782 3,422
FSIED 266 318 305 623
XLAT1TH 839 738 895 1,633
X#ILET2TH 317 342 368 710
X#ILET3TH 155 153 169 322
1 [ BT 43 63 71 134
hHET1TH 393 427 399 826
hHET2TH 473 474 523 997
hHBEI3TH 455 510 506 1,016
aiEld:) 251 224 276 500
th 2 JEHT 221 205 229 434
ch T 137 129 165 294
TR AHT 776 866 869 1,735
At FAET 881 867 1,003 1,870
75 K ERET 773 940 990 1,930
75 2 [N HET 1,677 1,821 1,947 3,768
JAHT 905 862 953 1,815
$FHET1TH 525 471 508 979
$FHET2T H 393 383 428 811
¥FHETST B 199 206 222 428
T 166 210 216 426
HET1 T B 387 479 504 983
HET2 T B 350 363 406 769
HET3 T B 359 389 435 824
HET4 T B 121 117 147 264
J\ & T 985 1,051 1,098 2,149
J\ EHHT 158 193 185 378
+ A ERT 249 276 311 587
T A HT 1,621 1,589 1,803 3,392
THB1TH 21 20 18 38
T4HB2TH 1,455 1,334 1,345 2,679
T4HBI3TH 188 171 162 333
T4RBI4TH 374 307 373 680
T4RB5TH 925 625 918 1,543
T4HBI6TH 627 604 650 1,254
THBI7TH 356 367 415 782
T4HBISTH 376 393 414 807
THRBOTH 406 446 504 950
T4BI12TH 236 258 260 518
T+4R13TH 316 353 387 740
AR NBHT 1,954 1,673 1,943 3,616
HARRHET 1,368 1,239 1,173 2,412
H AR KR ET 292 366 379 745
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HEZ HH 5 = 5
E AR ERT 167 174 180 354
- WNEL] 133 117 138 255
FH AR hHT 206 226 265 491
FHARAKHET 440 461 491 952
& AR ElT 318 331 373 704
EHARE)IIHET 278 260 291 551
=N ] 115 121 136 257
FH AR JTHT 102 97 111 208
EARERHE 662 562 647 1,209
B K R HET 381 393 393 786
Edsa] 884 882 1,011 1,893
BIERT1TH 752 729 733 1,462
BEFET2TH 605 606 688 1,294
RIS TH 343 406 408 814
AIFTET1TH 433 386 425 811
AIFFRT2T B 598 604 672 1,276
AIFTET3T B 646 725 783 1,508
A HT 181 192 185 377
B LH 251 319 335 654
NEL] 796 750 822 1572
ERL 773 942 941 1,883
= HHE 1,740 1,917 1,971 3,888
HETHRET1TH 575 617 650 1,267
HLIRET2TH 511 585 644 1,229
HLIREISTH 297 367 369 736
P fx T 316 360 386 746
mERI1TH 1,167 1,119 1,276 2,395
mERI2TH 840 943 1,035 1,978
FA T 1,364 1,373 1,531 2,904
= RITET 529 488 538 1,026
= AHT 354 279 330 609
AR#1HT 7 5 4 9
) 500 552 504 1,056
SHET1TH 710 617 772 1,389
S HET2TH 413 443 470 913
aHEI3TH 852 722 880 1,602
S HET4TH 750 613 821 1,434
E& T 1 1 0 1
J\IRET1TH 217 254 270 524
J\BRET2T B 228 230 243 473
J\BRBT3TH 241 301 307 608
1TaHT 301 420 410 830
FHRIBRT1 T H 169 199 209 408
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HEZ HH 5 £ 5
FIEIET2 T B 208 426 457 883
FIEIET3 T B 108 178 169 347
EOER1TH 110 168 165 333
FEOER2TH 0 0 0 0
FENDERITH 21 19 2 21

wEE 89,133 | 91,016 98,726 | 189,742
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